
345127
TANK MOUNTING KIT

(CONSISTS OF 26 PIECES)

01-01-2003WWWWWW..ZZOODDIIAACC..NNLL

Front upper mounts consists of: Front lower mount consists of: Rear mounts (2) consists of:

Pos Qty Pos Qty Pos Qty
4 1    5/16"x 2 3/4" bolt 2 1    5/16" x 1" bolt 40 2    5/16" x 1 3/4" studs
12 1    5/16" lockwasher 12 1    5/16" lockwasher 15 2    5/16" hex nuts
8 2    5/16" x 1/16" flatwasher 8 2    5/16" x 1/16" flatwasher 13 2    5/16" internal lockwashers
15 1    5/16" hex nut 15 1    5/16" hex nut 4A 2    5/16" x 7/32" spacers

8 8    5/16" x 1/16" flatwashers

NOTE: Extra spacing flatwashers are provided to ensure that the tanks are properly adjusted so that they
clear the rear cylinder rocker box cover. An easy method of determining this is, since it is difficult to see
when the tanks are mounted, to use a sheet of paper (such as this instruction sheet as a thickness gauge.
With the engine at operating temperature and the tank filled with fuel you should be able to easily slide
the paper between the right tanks bottom and the rear cylinder rocker box. It is recommended, as in any
gas tank installation, that the tanks be pressure tested before mounting, then sealed with tank prep and
sealer (ZPN 232020) before painting to protect the final finish and prevent internal rusting.

15
12

8

8

8

13
4A

40

8
4

13

2

15

15

30A
32
33


